TOLLAND BUILDING DEPARTMENT

CALCULATING THE CORRECT PIER DIAMETER

(The following is for informational purposes only and is not a substitute for proper engineering)

Concrete piers are used to transfer the deck’s weight to the ground. To be effective, they need to be sized and spaced
according to the deck’s design load and the soil’s bearing capacity. The bottom of the pier needs to be at least 42
inches below finished grade.

How many and what size?
Three things affect the number and the size of piers you use:
1. The way you frame the deck.
2. The weight the deck is designed to carry. In Connecticut decks must be designed to carry 50 Ib. per sq. ft. (psf);
(40 psf live load, 10 psf dead load). Hot tubs or roofs that may be added in the future may require a different
design.
3. The load-bearing capacity of the soil (assume 3,000 pounds for most areas in Tolland). If soil is very sandy or
clayey, contact the Building Department.

How to calculate the load?
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would be needed. If poor soil conditions are found in
Fig. 2 your area adjust the soil capacity accordingly.



